
 
Internal Assessment Test 3–June-2022 

(Academic Year 2021-22-Even) 

(Solution and Scheme of Valuation) 

Sub: Quantity Survey and contract Management SubCode: 17CV81 Branch: Civil 

Date: 17/6/2022 Duration: 90min MaxMarks: 50 Sem/Sec: VIII– C  

1  Write the specification for the following 

a. Earthwork in excavation 
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b. Plastering cement mortar or lime mortar 
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c. Ist class brickwork in cement mortar 

 

 
 

 

 

 

 

 

 

 
 
 
 
 
5 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



d. 2.5 cm cement floor 
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e. Damp proof course (D.P.C) 
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2 Reduced level (RL) of ground along the centre line of a proposed road from chainage 10 to 
chainage 20 are given below. The formation level at the 10th chainage is 107m and the road is 

in downward gradient of 1 in 150 up to the chainage 14 and then the gradient changes to 1 in 

100 downward. Formation width of road is 10m and side slope of banking are 2:1. length of 

chain is 30m. Prepare an estimate of earthwork at the rate of Rs 275 % cu.m.  
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Solution: given data  

Formation width of road = B = 10m 

Side slope = S = 2 

Length of chain = 30m 

Calculation for formation level 

1. Determination of change in RL of formation from chainage 10 to 14 with 

downward gradient of 1 in 150 

       decrease in RL of formation for 30m = (1/150)*30 = 0.20m 

2. Determination of change in RL of formation from chainage 14 to 20 with 

downward gradient of 1 in 100 

       decrease in RL of formation for 30m = (1/100)*30 = 0.30m 

 Height of Bank= RL of formation – RL of ground 
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10 300 2.00 - - - - - 

11 330 1.20 1.60 21.120 30 633.6  

12 360 1.16 1.18 14.585 30 437.4  

13 390 0.50 0.83 9.678 30 290.4  

14 420 0.78 0.64 7.219 30 216.6  

15 450 1.60 1.19 14.732 30 441.9  

16 480 0.60 1.10 13.420 30 402.6  

17 510 1.20 0.90 10.620 30 318.6  

18 540 0.38 0.79 9.148 30 274.5  

19 570 0.70 0.54 5.983 30 179.4  

20 600 1.10 0.90 10.620 30 318.6  

     Total 3513.6 

m3 
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Unit Rate Per Cost 

1 Earth 

work in 

banking  

3513.6 Cu. m 275.00 % cu.m  9662.40 

     Total 

Add 5% 

Grand total 

9662.40 

483.12 

10145.52 
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